
qm=; ljj/0f÷of]hgf If]q ut jh]6
laifo ut  

ah]6

of]hgfut 

ah]6 ?

!=k"FhLut vr{ sf]if 8500000.00 8500000.00

1 ;dk"/s sf]if 4000000.00

2 ljif]z sf]if 1000000.00

3 ljkGg ;xof]u sf]if 500000.00

4 /f]huf/ sf]if 3000000.00

 @= cfly{s ljsf; 18875000.00

1 kz'kfng sfo{qmd 2575000.00

1 ;dk'/s sf]if 100000.00

2 cf}iflw v/Lb 350000.00

3 s[ltd ue{wf/0f tflnd 75000.00

4 Rofks6/ d]lzg &%Ü cg'bfg 300000.00

5 cG8fcfTdf lge{/ sfo{qmd Joj;flos kmd{nfO{ rNnf ljt/0f 300000.00

6 Joj;flos k|f]T;fxg cg'bfg 700000.00

7 kz' d]nf k|bz{gL 250000.00

8 j+u'/sf] ;fgf Joj;flos ks]6 lj:tf/ sfo{qmd %)Ü cg'bfg 500000.00

2 s[lif sfo{qmd 9100000.00

1 s[lif ;fdu|L  %)Ü cg'bfg 150000.00

2 n;'g v]tL ks]6 sfo{qmd %)Ü cg'bfg 300000.00

3 gd'gf s[lif sfo{qmd cg'bfg 2000000.00

4 Rofpsf] ls6 ljt/0f 100000.00

5 lxpFb] kmnkm"n lj?jf vl/b cg'bfg 150000.00

6 av]{ kmnkm"n lj?jf vl/b cg'bfg 150000.00

7 Kofh v]tL ks]6 sfo{qmd %)Ü cg'bfg 400000.00

8 ldgL l6n/ vl/b tyf ljt/0f %)Ü cg'bfg 400000.00

9 u|fdL0f ljsf; ;+:yf;Fu ;dk'/s cg'bfg 2500000.00

11 cfw'lgs df}/L3f/ ljt/0f %)Ü cg'bfg 200000.00

12 ;dk'/s sf]if 400000.00

13 Joj;flos k|f]T;fxg cg'bfg 800000.00

14 s[lif d]nf k|bz{gL 300000.00

15 Knfli6s 6g]n %)Ü cg'bfg 200000.00

16 h}ljs ljiffbL vl/b 250000.00

17 l;hgn t/sf/L ljpm vl/b tyf ljt/0f 300000.00

j8f g+= %

1

cfw'lgs s[lif k|0ffnL ;'wf/sf nflu lj1;Fu cGt/lqmof ;'emfj pTs[i7 

s[ifs tyf kmd{nfO{ k|f]T;fxg k'/:sf/  
500000.00

g]rf;Nofg ufpFkflnsf

( cf}+ ufpF ;ef

cf=j= @)&*÷@)&( sf] k|:tfljt sfo{qmd tyf jh]6



3 ;xsf/L 300000.00

1 ;xsf/L lzIff tflnd 300000.00

4 pBf]u tyf jfl0f~o 200000.00

1 cf}wf]lus d]nf k|bz{gL 200000.00

5 ko{6g k"jf{wf/ 6700000.00

1 6'x'/] uf}/L6fk ko{6g k"jf{wf/ 

s=uf}/L6fk of]uf xn lgdf{0f, j8f g+= ! 1000000.00

v= 6'x'/] Eo' kfO{G6 lgdf{0f, j8f g+= ! 300000.00

2 VofDk' cfxfn] ko{6g k"jf{wf/

s= s'GtfbjL:yn l;l8 lgdf{0f j8f g+= ! 600000.00

3 6f/L7fl6 ko{6g k"jf{wf/ lgdf{0f

s=k'/;r/0f ;T;+3 xn lgdf{0f j8f g+= @ 1000000.00

4 u}/L s]z/L lzj dlGb/ ko{6g k"jf{wf/ 

s= s]z/L8fF8f Eo'6fj/ lgdf{0f j8f g+= % 1000000.00

v= lzjdlGb/ lj>fd :yn lgdf{0f j8f g+= % 200000.00

5 hfNkf km's]{ lr;fkfgL ko{6g k"jf{wf/

s=hfNkf b]jL dlGb/ lh0ff]{åf/ j8f g+= # 500000.00

v= km's]{ 8fF8f Eo'kf]O{G6 Joj:yfkg, j8f g+= $ 1000000.00

u= lr;fkfgL kfs{ lgdf{0f, j8f g+= #

3= hfNkf u'kmf ;kmfO{, j8f g+= #

ª= emfem/] ;]tL b]jL dlGb/ l;l8 lgdf{0f j8f g+ #

6 l;+x b]jL sflnsf b]jL t'O{G6f/ ko{6g k"jf{wf/

s= l;+x b]jL dlGb/ Joj:yfkg, j8f g+= # 1000000.00

v= sflnsf b]jL dlGb/ ;kmfO{, j[If/f]k0f j8f g+= $ 100000.00

#= ;fdflhs ljsf; 45444000.00

s lzIff 7850000.00

1 afn sIff lzlIfsf tflnd 300000.00

2 lzIfs sDKo"6/ tflnd 300000.00

3 lzIfs cleefjs cGt{lqmof 50000.00

4 ljBfno :tl/o k|ltof]lutf 250000.00

5 ;j} ljBfnodf sDKo'6/ gePsf] 7fpFdf sDKo'6/ ljt/0f 1800000.00

6 u'?s'n lzIff j6's vfg, vfhf cg'bfg 200000.00

7 :df6{ l6le ljt/0f -df=lj= ^ / cfwf/e"t $_  !^ j6f 1200000.00

8 k/LIff ;+rfng 300000.00

9 :sfp6 sfo{qmd 500000.00

10 a}slNks lzIff sfo{qmd 350000.00

11 sflnsf cf=lj= jfnsIff l;lnª 300000.00

12 hfNkf cf=lj= e'O{ 9nfg / kmlg{r/ 400000.00

13 Ps ljBfno Ps n3' pBd sfo{qmd @ ljBfno 400000.00

14 rGb|Hof]lt cf=lj= 3]/fjf/ 200000.00

15 k|f]T;fg tyf ;Ddfg sfo{qmd 200000.00



j8f g+= !

1 e'd]Zj/L df=lj= Joj:yfkg 750000.00

2 e'd]Zj/L df=lj= sf]lrª tyf l6\o';g 70000.00

3 lzIfftkm{ j8f ;ldltsf] lg0f{o 200000.00

4

cfwf/e"t txsf 5fq5fqfnfO{ xflh/L hjfkm k|ltof]lutf, g[To ;fy} cfGo 

sfo{qmdsf] k'/:sf/ tyf Joj:yfkg  
80000.00

v :jf:Yo 7194000.00

1 kf]if0f hgr]tgf ;Gb]z afafnfO{ lrl7 50000.00

2 aly{ª ;]G6/ k|f]T;fxg oftfoft vr{, 500000.00

3 lzlj/÷cfFvf lSnlgs ;~rfng 600000.00

4 cf}iflw v/Lb 1000000.00

5 xf]d8]lne]/L Go"gLs/0f ug{ dlxnf :jo+;]ljsf kl/rfng vr{ 170000.00

6 ;'Ts]/L sf]z]ln / Sofn]G8/ lgdf{0f 20000.00

7 cgdL ;'Ts]/L e]63f6 sfo{qmd #÷& lbg 105000.00

8 sd tf}n ePsf] s'kf]lift jRrfx? c:ktfn ;Dd hfgsf] nflu 15000.00

9

xf]d 8]lne/L sd ug{ ;fy} sf]le8 !( ;+qmd0f hf]lvd Go'gLs/0fsf] nflu 

k|lt ue{jltsf] nflu ? @))).– sf b/n]
300000.00

10

x]NbL j]jL klxrfg ug{sf] nflu vf]k, kf]if0f tyf ;/;kmfO{ sfo{qmd 

cGtu{t c08f tyf ;fjg ljt/0f
260000.00

11 sf]/f]gf efO{/; tyf dxfdf/L lgoGq0f ljkb\ sf]if 3000000.00

12 :jfYosdL{ ;Ddfg sfo{qmd 50000.00

13 clS;hg l;ln08/ vl/b 500000.00

14 dlxnf :jo+;]ljsf oftfoft vr{ 324000.00

j8f g+= !

1 :jf:Yo tkm{sf] j8f ;ldlts]f lg0f{o 200000.00

2 l;dvs{ vf]k s]Gb|sf] zf}rfnosf] lgdf{0f 100000.00

u
dlxnf, h]i7 gful/s, lk5l8Psf] hflt, 

cflbjf;L tyf afnaflnsf sfo{qmd

11800000.0

s= dlxnf

1 n}lËs lx+;f cfsl:ds sf]if 100000.00

2 cGt/fli6«o >lds dlxnf lbj; 150000.00

3 n}lËu lx+;f lj?4sf] !^ lbg] cleofg 150000.00

4 d]nldnfk k'gM tfhuL tflnd 200000.00

5 j8f :t/Lo d]nldnfk k'gM tfhuL tflnd 150000.00

6 ;+uL Kof8 jgfpg] tflnd ;+rfng 200000.00

v=h]i7 gful/s

1 h]i7 gful/s ;Ddfg sfo{qmd 1000000.00

u= jfnjflnsf sfo{qmd

1 jfnjflnsf ;DjlGwt sfo{qmd 1000000.00

3= ckfËtf sfo{qmd



1 cfocfh{g;Fu ;DjlGwt sfo{qmd 500000.00

ª= lk5l8Psf] hflt sfo{qmd

1 cfocfh{g;Fu ;DjlGwt sfo{qmd 1500000.00

j8f g+= @

1 bdfO ufpF blnt ejg lgdf{0f 500000.00

r= cflbjf;L hghflt sfo{qmd

1 y'n'ª ;fdf ejg lgdf{0f j8f g+= $ qmdfut 1000000.00

2 jflxª d'n'lvd ejg lgdf{0f j8f g+= # qmdfut 1000000.00

3 g]jf/ u'7L kmlg{r/ lgdf{0f j8f g+= % 200000.00

4 s';'d y't]g u'Djf lgdf{0f j8f g+= ! qmdfut 2000000.00

5 rf]dn'Ëdf 5f]lnª u'Djf lgdf{0f, s]z/L j8f g+= % 1000000.00

6 tfdfª j}7s sIf lj>fd u[x lgdf{0f j8f g+= ! 500000.00

7 du/ u'7L ejg lgdf{0f j8f g+= ! 500000.00

j8f g+= !

1 3'G;f tfdfË u'7L ejg Joj:yfkg 150000.00

3 vfg]kfgL tyf ;/;kmfO{ 5600000.00

1 7f]6\g] e08f/L / sfsL{ vfg]kfgL lgdf{0f, ;Nofg 200000.00

2 vfg]kfgL dd{t 2000000.00

j8f g+= !

1 sd]/] VofDk'b]lv df=lj=;Dd vfg]kfgL Joj:yfkg 300000.00

2 dem'jf d'xfg lhJnL r'xfg vfg]kfgL Joj:yfkg 200000.00

3 7f]6\g]kfg] vfg]kfgL Joj:yfkg 50000.00

4 6f/L6f]n vfg]kfgL Joj:yfkg 100000.00

j8f g+= @

1 dw'jf3f/f] psfnL9'+uf vfg]kfgL -;fljs &,*,$,#,@_ 700000.00

j8f g+= #

1 cf]v/af]6 v8\sf ufpF vfg]kfgL lgdf{0f 400000.00

j8f g+= $

1 l;dv]t km'ofnufpF vfg]kfgL lgdf{0f 100000.00

2 e08f/3/ vfg]kfgL l/he{6]+s lgdf{0f 150000.00

3 dflyNnf] l;d /ftdf6f vfg]kfgL dd{t 100000.00

4 rDnfaf]6 rKn]6L vfg]kfgL l;he{6]+sL lgdf{0f 200000.00

j8f g+= %

1 lklk/L d'xfg k|m]jf r'xfg vfg]kfgL dd{t tyf ;'wf/ 450000.00

2 //Db' vf]nf 5]p d'xfg s'l8lvd 5]p r'xfg 150000.00

3 a}zkm]b v8\sfwf/f vfg]kfgL 6ofÍL dd{t 150000.00

4 u}/L vfg]kfgL d'xfg tyf u'F/f;] b]jLyfg ;+/If0f 350000.00

ª ;+:s[lt k|j{4g 8900000.00

1 g]jf/ u'7L ejg lgdf{0f, j8f g+= @ 1000000.00



2 dnfdL lj>fd u[x / 6\jfOn]6 ;d]t lgdf{0f j8f g+= # 500000.00

3 lutf:d0fL d08nL k|fy{gf xn lgdf{0f j8f g+ % 800000.00

4 led;]gyfg dlGb/ lgdf{0f j8f g+= $ 400000.00

5 k|]d zfGtL Pstf dlGb/ lgdf{0f j8f g+= $ qmdfut 800000.00

6 jfo'ª jfo'ª efiff d'Gw'd cg';Gwfg tyf n]vg 200000.00

7 >L jfnl;4 ;]tLsfnL b]jL dlGb/ lgdf{0f j8f g+= ! 200000.00

8 u'/Lkmf/ tf]lifvf]k ejg lgdf{0f j8f g+= $ 500000.00

9 y'n'ª ;fF:s[lts ;+u|xfno g]rf;Nofg 1000000.00

j8f g+= !

1 HjfnfdfO{ b]jL dlGb/ :t/f]GgtL 100000.00

j8f g+= @

1 bf]bL PSn]lkkn s'6L lgdf{0f 400000.00

2 yfd8fF8f hf]uLufpF s'6L lgdf{0f 300000.00

3 lg/f}nf aGw' s'n k'/Or/0f 500000.00

4 zfGtLk|]dL o'jf ;d"x sfo{nfo Joj:yfkg 100000.00

5 l/b' /fptufpF k+w]/L b]jL:yfg 3]/fjf/ 100000.00

6 8f]dlsnf] s[ofk'qL 6x/f] lgdf{0f 200000.00

7 sfkmnaf]6 s[ofk'qL 6x/f] lgdf{0f 200000.00

8 uu{Clif dlGb/ zflns lgdf{0f 700000.00

9 lzj dlGb/ k'hf/L tna 150000.00

10 bf]bL rr{3/ zf}rfno lgdf{0f 200000.00

11 df:nf] kw]/fkf/L jfo'yfg lgdf{0f 50000.00

12 ;fOnfd'lvof 3/5]p jfo'yfg lgdf{0f 50000.00

13 s]p/]gL jfo'yfg lgdf{0f 50000.00

j8f g+= $

1 km's]{ l;j dlGb/ Joj:yfg 100000.00

2 t'OG6f/ v]nd}bfg Joj:yfg 300000.00

r v]ns'b ;xof]u 4100000.00

1 /fi6«klt t]>f] /lgªl;N8 v]nf8L 5gf}6 sfo{qmd 500000.00

2 rf}yf] g]rf;Nofg uf]N8 sk 1000000.00

3 v]nfl8 Joj:yfkg tyf d;nGb 300000.00

4 cGt/kflnsf :t/Lo elnjn k|ltof]lutf 500000.00

6 # g+= v]ns"b d}bfg lgdf{0f 500000.00

7 $ g+= v]ns"b d}bfg lgdf{0f 500000.00

j8f g+= !

1 cf]:k' v]nd}bfg l8lk=cf/ 500000.00

2 j8f:t/Lo v]ns'b ;ldlt 100000.00

j8f g+= %

1 j8f:t/Lo v]ns'b, v]nf8L Joj:yfkg tyf d;nGb 200000.00



#= k"jf{wf/ ljsf; 80550000.00

s_ ;8s 45750000.0

1

s]p/]gL 7f6L÷gfnf3f6 ebf}/] kf]v/] t'O{G6f/ ;8ssf] 7f6L gfnf3f6 v08 

;8s lgdf{0f
1000000.00

2

s]p/]gL 7f6L÷gfnf3f6 ebf}/] kf]v/] t'O{G6f/ ;8ssf] s'Onf] vf]nf] 

cdnaf]6 v08 ;8s lgdf{0ff
1000000.00

3 vflnª ufpF 5]p3/ l5kl5k] x'Fb} uh]vf]nf ;8s lgdf{0f 1500000.00

4  /ftdf6f sf]njf/L rd]/] 9'Ëf ;8s lgdf{0f 700000.00

5 yfd8fF8f u}/fufpF lg/f}nf ufpF ;8s lgdf{0f 300000.00

6 :oflvg] lg/f}nf ufpF ;8s lgdf{0f 300000.00

7 l;dvs{ ;'s]{ ljv]{ ;8s lgdf{0f 300000.00

8 vfNkf ;fGynf ;8s lgdf{0f 300000.00

9 u}/L dfg]8fF8f k'/fgf] jf6f] h]gL k;n ;8s lgdf{0f 500000.00

10 ofnL b]p/fnL u'u'/tL nfn]vs{ vf]k 8fF8f ;8s lgdf{0f 600000.00

11 bf]bL vx/] r'k'{ ;8ssf] ljlxjf/] r'k'{ ;8s :t/pGglt 10000000.0

12 nfdLpsfnL ;8s lgdf{0f 1500000.00

13 s';'d :d[lt k|lti7fg 3§]k'ª ;8s :t/pGglt 1000000.00

14 hghfu[lt vfNn] g/v6] ;8s :t/pGglt 1000000.00

15 k|lti7fg rf]s e08f/L ufpF ;'s]kf]v/L ;8s :t/pGglt 1000000.00

16 u'/f;Fkm]b ;]tLd'n ;x]n]3f6 ;8s :t/pGglt 1000000.00

17

u}/Lahf/ sflnsf dlGb/ ;fd'bflos c:ktfnsf] e+u]/L j:tL ;8s 

:t/pGglt
500000.00

18 e§/fO{ ufpF cfO{tjf/] ;8ssf] 5x/fvf]nf v08sf] ;8s :t/pGglt 300000.00

19

gfDnf] u}/f3/ lh/f] kf]OG6 l;tfDb' k|m]jf ;8s :t/pGglt tyf 6«ofs 

cf]kg
1000000.00

20 ofnL l;dvs{ n]Jn' xs{6] uf}/L6fk ;8s :t/pGglt 1000000.00

21 emf]=k'=dd{t

s=;f]n'vf]nf t'O{G6f/ 200000.00

v=vx/]vf]nf Ro'/]jf]6] 3f6 300000.00

u= t'OG6f/ emf]=k'= dd{t b'wsf]zL 150000.00

22 bf]bL gfDnf] ljlxjf/]sf] vx/]vf]nf df]6/]k'n lgdf{0f 5000000.00

23 k|fylds :jf:Yo s]Gb| hfg]df]/jf6f] :t/pGglt 500000.00

24 GofDn] ;]qm]v]t emf]=k'= ;]Jh'j]zL s[lif ;8s lgdf{0f 400000.00

25 k|wfgdGqL /f]huf/ sfo{qmd ;fdfu|L tyf 9'+uf Joj:yfkg 3000000.00

26 ltGsGof bkm] vflnª ufpF gfDnf] ufpF ;8s Uofljª eg]{ 1000000.00

27 ;8s dd{t sf]if 4000000.00

j8f g+= !

1 t?naf/L ahf/] sfut] cfxfn] 6«ofs cf]kg 400000.00

2 8'8 ;8s 3/5]pdf hfnL eg]{ 200000.00

j8f g+ @

1 l/b'uxt] ;8s lgdf{0f 200000.00

2 kf6L8fF8f nfdfrf}/ ;8s lgdf{0f 200000.00



3 b'jf8fF8f  bdfOufpF ;8s lgdf{0f 300000.00

4 l;dn8fF8f ;8s lgdf{0f 100000.00

j8f g+= #

1 ph]nL vf]nf 8fF8f3/ sflnsf cf=lj=;8s :t/ pGgtL 300000.00

2 ph]nL vf]nf :jf:Yo rf}sL uf}tdsf] df]8 ;8s :t/f]GgtL 200000.00

3 sflnsf cf=lj= ;x]n] 3f6 ;8s :t/f]GgtL 500000.00

4 a'dyf?–vgfn ufpF–klG8t rf}tf/f ;8s :t/f]GgtL 500000.00

5 lr;fkfgL ;fD;fn] afFsL v08 ;8s :t/f]GgtL 300000.00

6

ljlxaf/] lr;fkgL ;8s v08 cGt{ut g/gfy cf=lj= 5]8 7f6Lvf]nf 

Ufljg tyf ;8s :t/f]GgtL 
500000.00

7 u}/fufpF lj;fpg ;8s 6«ofs cf]kg 500000.00

j8f g+= $

1 e'd]:yfg rf]s uf}8fln df]8 3f]8]6f] af6f] :Nofj lgdf{0f 200000.00

2 t'OG6f/ l;FrfO ;8s :Nofj 200000.00

3 rKn]6L uf}?ª6f]n afFsL ;8s v08 700000.00

4 l9s'/ 8fF8f 7"nf3/] 6f]n ;8s 6«ofs cf]kg 100000.00

j8f g+= %

1 dfemufpF kfltvs{ ;8s dd{t tyf 6«ofs cf]kg 1000000.00

v_ l;+rfO{ 3600000.00

1 ;fgf l;+rfO{ dd{t 2000000.00

j8f g+= !

1 b]Db] l;/fg s'nf] l;FrfO{ 100000.00

2 7f8f] vf]nf d'xfg afx|lj;] l;+rfO 100000.00

3 gfuyfg d'xfg e'd]:yfg r'xfg 100000.00

4 rfud g'gynf l;+rfO Joj:yfkg 100000.00

5 hDbLvf]nf d'xfg lk+uf] 8fF8f r'xfg l;+rfO 100000.00

j8f g+= $

1 3'ld{;] l;+rfO s'nf] dd{t 100000.00

2 5x/f vf]N;f l;dv]t l;+rfO dd{ 150000.00

3 8fF8f v]t l;+rfO s'nf] Joj:Yfkg 150000.00

4 ljsf;] l;+rfO{ s'nf] Joj:yfkg 100000.00

5 c+w]/Lvf]nf 8'd|] l;+rfO{ s'nf] dd{t 50000.00

6 a'lsvf]nf kf]v/] l;+rfO{ s'nf] dd{t 50000.00

7 8F8s'nf] dflyNnf] l;+rfO{ cfof]hgf 100000.00

j8f g+= %

1 v]n]vf]nf ;nfd sd{ d'xfg l;Dn] r'xfg s'nf] dd{t ;'wf/ tyf Knf:6/ 400000.00

16 v_ ejg tyf ;x/L ljsf; 23700000.0

1 ufpFsfo{kflnsf ejg lgdf{0f 15000000.0



2

!, $ / % g+= j8f sfof{no ejg lgdf{0f -hUuf pknJwtfsf] cfwf/df 

k|fyldstf lbO{g]_ 38/L ;Dofpg] 
1500000.00

3 ;fd"bflos ejgsf] 9f]sf tyf kmlg{r/ lgdf{0f LGCDP ward 3 300000.00

4 chDj/L lxdfn ejg l;lnª / zf}rfno lgdf{0f 300000.00

5 ;'ljwf ;DkGg ;efxn lgdf{0f 4000000.00

6 O{nfsf k|x/L sfof{no tf/ 3]/fjf/ 250000.00

7 u0f]:yfg :d[lt k|lti7fg ejg lgdf{0f qmdfut 500000.00

8 s'z'd :d[lt k|lti7fg ejg lgdf{0f qmdfut 500000.00

9 r]tgf lj:tf/ ;fj{hlgs k':tsfno ;xof]u 500000.00

10 hd/s§]n k|lti7fg vf]nfdfly :Nofk lgdf{0f 350000.00

11 o'jf;+ud kl/jf/ ;efxn lgdf{0f 500000.00

25 u= pmhf{ n3' tyf ;fgf hnljB't 7500000.00

1 6'x'/] v08 ljB'tLs/0f ;xof]u 1500000.00

2 g]rf;Nofg u|fdL0f ljB\tLs/0f 2500000.00

3 lqj]0fL n3' hnljB't 6«fG;km/ / tf/ vl/b -g]rf;Nofg ! / @_ tyf dd{t 1500000.00

4 t'O{g6f/ n3'ljB'tLs/0f lj:tf/ tf/ vl/b tyf dd{t 2000000.00

$ jftfj/0f tyf ljkb\ Joj:yfkg  8350000.00 8350000.00

1 vx/]vf]nf l8lkcf/ % 800000.00

2 jftf/0f tyf ljkb\ Joj:yfkg e';+/If0f tf/ hfnL vl/b ;d]t 4000000.00

3 ahf/sf] kmf]xf]/ d}nf Joj:yfkg -k'jf{wf/ ;d]t_ 1000000.00

4 c7f/k'/f0f :yn klx/f] lgoGq0f 500000.00

5 l;+xb]jL:yfg klx/f] lgoGq0f 100000.00

6 j'lsvf]nf k|]d /fO{sf] v]t 5]p 500000.00

7 LAPA lgdf{0f u|fdL0f ljsf; ;+:yf ;fem]bf/L 300000.00

j8f g+= $

1 knª\s' vf]N;f tf/hfnL Joj:yfkg 100000.00

2 ;'lsvf]N;f ;8s tf/hfnL 100000.00

3 km's]{ k'5/6f]n tf/hfnL Joj:yfkg 250000.00

4 nK;Lkmf/ sflndfl6 ;8s tf/hfnL 300000.00

5 cf]v/af]6 tf/hfnL Joj:yfkg 300000.00

6 c+w]/L la/f}6f tf/hfnL 100000.00

% s ;'zf;g tyf ;+:yfut ljsf;÷ ;fj{hlgs ;]jf 

tyf Ifdtf ljsf;
14400000.00

3800000.00

1  /]l8lof] sfo{qmd 600000.00

2 lj1fkg 400000.00

3 cg';Gwfg tyf ljsf; 2500000.00

4 ;fj{hlgs ;'gfO{ 200000.00

5 l;l;l6eL h8fg g]rf u}/L 100000.00



v_ k|a4{gfTds 10600000.0

1 dfudf cfwf/Lt ;fem]bf/L -sfkf lg0f{ofg';f/_ 3000000.00

2 ljljw 2000000.00

j8f g+= !

1 cGo ljljw  -! g+= j8f ;ldltsf] lg0f{o cg';f/ vr{ x'g]u/L_ 1000000.00

j8f g+= #

1

k'jf{wf/ j8fsf] lgdf{0f cg';f/ vr{ ug]{ /sd -# g+=j8f ;ldltsf] lg0f{o 

cg';f/ vr{ x'g]u/L_
500000.00

2

;fdflhs ljsf; ;ldlt j8fsf] lg0f{o cg';f/ vr{ -# g+= j8f ;ldltsf] 

lg0f{o cg';f/ vr{ x'g]u/L_
1300000.00

j8f g+= $

1 ljljw -$ g+= j8f ;ldltsf] lg0f{o cg';f/ vr{ x'g]u/L_ 1000000.00

j8f g+= %

1

ljleGg zLif{s cGt{ut dfudf cfwfl/t of]hgf % g+= j8f ;ldltn] lg0f{o 

ug]{ u/L 
800000.00

2 cGo ljljw  -% g+= j8f ;ldltsf] lg0f{o cg';f/ vr{ x'g]u/L_ 1000000.00

hDdf 176119000.0 176119000 176119000.0

^= rfn' tyf sfof{no k"FhLut 68971000.0

s"nhDdf ? 245090000.0


